






PROTON

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

4 info@riw.com.tr



PROTON

PERSONA 1994 - 2000

Image Product Code and Description Details OEM

MI1005

BALL JOINT FRONT LOWER

Weight : 0,33 kg  / 0.728 lb
Cone Size [mm] : Ø15
Ball Pin Thread Size : M12X1,5
Ball Joint Body Diameter : Ø40,25

54520-11011, 54530-11000
54530-14200, MB001696
MB001699, MB001715

VO2004

TIE ROD END

Weight : 0,31 kg  / 0.683 lb
Length : 80 mm  / 3.15 inch
Body Thread Size : M12X1,25
Ball Pin Thread Size : M10X1,5
Ball Pin Cone Diameter : Ø13,5

30870695, 30875012
5682002500, MB598023

MB912076

PR3001

AXIAL JOINT

Weight : 0,543 kg  / 1.197 lb
Length : 310 mm  / 12.20 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M12X1,25

PW530031, PW530032
PW550281

MI4027

LINK STABILIZER FRONT

Weight : 0,191 kg  / 0.421 lb
Length : 140 mm  / 5.51 inch
Note : L=140mm

MB185477, MB241974

MI6011

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

Weight : 3,776 kg  / 8.325 lb
Material Type : Metal

MB907164, MB912078

MI6012

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

Weight : 3,696 kg  / 8.148 lb
Material Type : Metal

MB907163, MB907165
MB912077

MI6023

WISHBONE (WITH BALL JOINT)
FRONT LOWER RH

Weight : 3,65 kg  / 8.047 lb
Material Type : Metal

30887654, MR911569
MR916134

MI6024

WISHBONE (WITH BALL JOINT)
FRONT LOWER LH

Weight : 3,65 kg  / 8.047 lb
Material Type : Metal

30887653, 3088896
30888962, MR297241
MR911568, MR911570

MR916133

MI11001

BUSH FOR WISHBONE CENTER
SMALL

Position : Center Left And Right
Weight : 0,159 kg  / 0.351 lb

MB573524

MI11010

BUSH FOR WISHBONE BIG RH
Position : Right
Other Side : MI11011

MI11011

BUSH FOR WISHBONE BIG LH
Position : Left
Other Side : MI11010

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

5 info@riw.com.tr



PROTON

SANTRIA 1994 - 2005

Image Product Code and Description Details OEM

MI4027

LINK STABILIZER FRONT

Weight : 0,191 kg  / 0.421 lb
Length : 140 mm  / 5.51 inch
Note : L=140mm

MB185477, MB241974

SAVVY 2005 - 

Image Product Code and Description Details OEM

PR3002

AXIAL JOINT

Weight : 0,513 kg  / 1.131 lb
Length : 290 mm  / 11.42 inch
Ball Pin Thread Size : M12X1,25

PW891908

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

6 info@riw.com.tr



NOTES



NOTES

Product Code Additional Information

VO2004
TIE ROD END

S40: 1995-2000


